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QUESTION 1

The customer has two sites that must operate independently of each other in the event of a WAN failure. During normal
operations, administrators from each site must be able to manage the other site through the vSphere Web Client.

Which vCenter Server Appliance (VCSA) and Platform Services Controller (PSC) diagram shows the VMware-
recommended design that satisfies these requirements?

AL

VCSA

External PSC
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B.
VCSA with Internal
PSC
C.
VOCSA with Tnternal VCSA witk Internal
i B PSC
D.
VICEA VICSA
Extemal PSC External PSC
A. Exhibit A
B. Exhibit B
C. Exhibit C
D. Exhibit D

Correct Answer: D

https://www.opvizor.com/understanding-the-impacts-of-mixed-version-vcenter-server-deployments/

QUESTION 2
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A company has asked a systems architect to ensure that a backup solution leverages VMware vSphere Storage APIs -
Data Protections (VCAP). Which logical design concept applies to the situation?

A. Requirement
B. Assumption
C. Constraint
D. Risk

Correct Answer: A

QUESTION 3

A company has requested assistance with a new cross-site failover design between two sites which will support
business-critical applications. Latency between the sites is less than 5ms round-trip. The company requires:

1.

application must be restarted quickly in the event of a total site failure

2.

allow for planned migration during maintenance

3.

applications must be kept online even when migrated due to planned maintenance
Drag each statement to its correct concept

Select and Place:

Statement Concept

Applications must be restarted quickly. Risk

Application downtime will result in significant

Constraint
financial loss. e
Lat i i i
ency between the two sites will remain at or A
below S5ms.
licati t be kept online duri lanned
Applications must be kept online during plan Resitament

migration between sites._

Correct Answer:
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Statement Concept

Application downtime will result in significant

financial lnss

Latency between the two sites will remain at or
below Sms.

Applications must be kept online duning planned
migration between sites.

Applications must be restarted quickly.

QUESTION 4

Which of the following needs to be considered when determining the amount and size of thehosts required for a virtual
design?

A. Aggregate CPU and memory requirements
B. Future growth

C. Number of vCPUs to be hosted per box

D. All of the above

Correct Answer: D

QUESTION 5

Match the design characteristic to the appropriate concept.

Select and Place:
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Database servers must be restarted prior application
sorvers in case of host failure.

Managehility

All vMotion traffic must be encrypted

Security

The web server must support a minimum 10,000 user
connections per week.

Recoverability

Transaction applications are mission-critical

Availability

viCenter Server mist be accessible from sites in scope.

Parlormance

Correct Answer:

vCenter Server must be accessible from sites in scope.

All vMotion traffic must be encrypted

Databaso sarvers must be restarted prior application
sarvers in case of host failure.

The web server must support a minimum 10,000 user
connections per week.

Transaction applications are mission-critical
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